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5(Irr)130cm + 4m = Im30cm grlr382cm — Im = Tm&2cm
I(?B)m‘73cm + lcm = |3mY4cm (Ilé)m l4cm — 9m = 8ml4cm
'7(3I)cm + 5m27cm = 5mY98cm 2250cm — 30cm = 4m20cm
'7(25ch + 36cm = 7m8Y9cm (qlfriéOcm — llecm = 9m4Y9cm
3(%)cm + | Im28cm = | Im66cm (Ilg)m‘km —38cm = Ibmlcm
3((;:1 + 2m6cm = bmbcm (6Ifn) |Ocm — Im = 5m10Ocm
I(7I>m420m +6m = |7m42cm (II%)mSOcm —4m = | Im50cm
lﬁr)ISOcm + 40cm = 4mY90cm (6Ifn) |Ocm — 4m = 2m | 0cm
6((::1 + 5m66Ccm = | Imé66cm g:riZOcm — 10cm = 6mI0Ocm
'(7|8)cm +4m|Ocm = 4m80cm (Izg)m80cm — 30cm= [7m50cm
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